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CO TO JEST RYNEK
KONKURENCY JNY¢

Rynek konkurencyjny (competitive market) stanowi taki rynek, na ktérym dziata
wielu nabywcow i wielu sprzedawcéw, handlujgcych identycznymi produktami, co

strawig, Ze kazdy z nich jest cenobiorcg, a wi€c ma tylko nie wilki wptyw na cen€
rynkow3d.



MAKSYMALIZACJA ZYSKU

Kazde przedsi€biorstwo dziatajgce na rynku konkurencyjnym, proébuje
maksymalizowaC zyski, czyli réznice utargu catkowitego i kosztu catkowitego.

Chcgc zrozumieC jak przedsi€biorstwo konkurencyjne to robi, rozwazmy
najpierw jego utarg.



UTARG PRZEDSIEBIORSTWA

Utarg catkowity (tofal revenue, TR) — to kwota, ktérg przedsi€biorstwo uzyskuje ze
sprzedazy swoich produktéw.

TR=QxP

Kazde przedsi€biorstwo produkcyjne interesuje dwa podstawowe pytania dotyczgce
przychodoéow:

lle wynosi przychdd ze sprzedazy jednostki produkowanego dobra?

lle wynosi dodatkowy przychdd ze sprzedazy kazdej dodatkowej wyprodukowanej
jednostki dobra?

Utarg przeci€iny (average revenue, AR) — stanowi utarg catkowity podzielony przez
wielkoSC produkgji.

AR = TR/Q

Utarg kraNcowy (marginal revenue, MR) = stanowi zmian€ utargu catkowitego
spowodowang sprzedazg kazdej dodatkowej jednostki produkcii.

MR = ATR/ A Q




CALKOWITY, PRZECIETNY |
KRANCOWY UTARG
PRZEDSIEBIORSTWA
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Quantity Price Total Revenue Average Revenue Marginal Revenue LI 1
(Q) (P) (TR=PX Q) (AR = TRIQ) (MR = ATRIAQ) Total, Average, and
Marginal Revenue for
1.galon ¥ 36 & $6 a C;gmpetltlve Firm
2 6 12 b
6
3 6 18 6
6
4 6 24 6
6
5 6 30 b
6
b 6 36 b
6
/ 6 42 b
6

8 6 48 b




PRZYKELAD MAKSYMALIZACJI ZYSKU
PRZEDSIEBIORSTWA

Table 2
Total Total Marginal Marginal Change
Quantity Revenue Cost Profit Revenue Cost in Profit Profit Maximization:
(Q) (TR) (1) (TIR-TC) (MR—=ATRIAQ) (MC=ATCGAQ (MR- MC) A Numerical Example
0 gallons $0 $3 $3
$6 $2 $4
1 6 5 1
6 3 3
2 12 8 4
6 4 2
3 18 12 6
6 5 1
4 24 17 7
6 6 0
5 30 23 7
6 7 1
6 36 30 6
6 8 2
7 42 38 4
6 9 3
8 48 47 1




GRAFICZNA PREZENTACIJA
MAKSYMALIZACII ZYSKU PRZEZ
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This figure shows the marginal-cost curve (MC), the average-total-cost curve (ATC),
and the average-variable-cost curve (AVC). It also shows the market price (P),

which equals marginal revenue (MR) and average revenue (AR). At the quantity Q,,
marginal revenue MR, exceeds marginal cost MC,, so raising production increases
profit. At the quantity Q,, marginal cost MC, is above marginal revenue MR,, so
reducing production increases profit. The profit-maximizing quantity Q,,,, is found
where the horizontal price line intersects the marginal-cost curve.

Profit Maximization for
a Competitive Firm

Costs
and
Revenue The firm maximizes profit
by praducing the quantity :
at which marginal cost MC
equals marginal revenue.
MG, |-~ \

ATC
P =MR, = MR, // P=AR=MR
/AV(
MC' \ /

0 Qy O Q, Quantity




KROTKI OKRES | DECYZJE
PRZEDSIEBIORSTWA O CZASOWYM
ZAPRZESTANILI PRODLIKC II

Costs Figure 3

MC The Competitive Firm’s Short-Run
Supply Curve
In the short run, the competitive firm's
supply curve is its marginal-cost curve
ATC (MC) above average variable cost (AVC).
AVC If the price falls below average variable
cost, the firm is better off shutting down.

1. In the short run, the firm
produces on the MC curve

ifP=AVC,..,

2. ..but shuts
down if —_
P < AVC.

0 Quantity




DtUGI OKRES | DECYZJE
PRZEDSIEBIORSTWA O WEJSCIU
NA RYNEK LUB WYJSCIU Z

R‘ Costs Figure 4

1. Inthe long fun, the fim MC The Competitive Firm’s Long-Run
produces on the MC curve Supply Curve
ifP=AIC... In the long run, the competitive firm’s

‘ supply curve is its marginal-cost curve
Al (MC) above average total cost (ATC).
If the price falls below average total
cost, the firm is better off exiting the
market.

X

2...but
exitsif —
P < ATC,

0 Quantity
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Figure

Cost

Price

ATC

5

Profit as the Area between
Price and Average Total

Profit

\

The area of the shaded box between price and average total cost represents the
firm’s profit. The height of this box is price minus average total cost (P - ATC),
and the width of the box is the quantity of output (Q). In panel (a), price is above
average total cost, so the firm has positive profit. In panel (b), price is less than
average total cost, so the firm has losses.

(a) A Firm with Profits (b) A Firm with Losses
Price

MC ATC

N
\
.................................... s P—AR = MR ATC
P
Q Quantity 0 o Quantity

(profit-maximizing quantity) (loss-minimizing quantity)
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